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Answer of question (1) (10 marks)
A) (6 marks) (6x1)=6
1- (c) The energy levels in the atom.
2- (b) nitrous oxide.
3- (d) CH;-O-CH;.
4- (c) Calcium fluoride and calcium phosphate.
5- (a) dolomite.
6- (d) 2 x 6.02 x 10 Z jons.
B) (3 marks) each use with one mark (3 x 1) =3
And one use is enough.
1- saleylic acid : in the manufacture of cosmetics specific to skin to make it softer,
& - flexible and protect it againest sunrays.
& - It was used in the treatment of cold diseases and headache.
2- Ethylene glycol : it is used as antifreeze substance which prevent freezing of water
in car radiators in cold countries .
&- As a constituent of the liquids used in the hydraulic break-in printing ink.
&- It is used to prepare polyethylene glycol, which is used in the manufacture of
Dacron fibers.
&- photographic films and cassette tapes.
3-Teflon : it is used in cooking utensils and surgical threads.
C) One mark ( % for atomic orbitals, % for molecular orbitals ).
Atomic orbitalsare: S , SP?

Molecular orbitalsare: © , & .
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A) (5 marks) (5 % 1)=5 marks.

1- Orbitals.

2- Oxidation number.

3- Roasting.
4- Avogadro’s law.
5- The (rate)Speed of chemical reaction.
B) (4 marks)
1- preparation of methan gas: (2 marks)
Ca0O

CH;COONa + NaOH T CH, + Na,COs

CH:COONa
+
INaOH / CaO.

2- Obtaining chloroform from methane

3L CH,Cl + HCl
LS.L

—ISL | cu,cl,+Hel

—ASL__, cHel +HCl

CH, +Cl,
CHiCl +Cl,
CH,Cl, + Cl,

O I\

¢ [02]3[NH3]7 (one mark)

(2 marks) (Each equation has /2 mark and the condition has 'z mark) .

(one mark)

Drawing: (one mark)





[image: image3.jpg]Answer of question (3) (10 marks

A) (4 marks) ISR : TSR —

1- (2 marks) one mark for each detection.

Detection for iron cation Fe™by adding sodium hydroxide solution to salt of iron a
reddish brown precipitate of iron hydroxide ( III ) is formed.
FeCl; + 3NaOH —— 3NaCl + Fe(OH)3{ (1 mark)

Detection for copper cation by adding sodium hydroxide solution to salt of copper

CuSO4 + 2NaOH — Cu(OH), |+ Na,SO, (Ysmark)
A Blue ppt
Cu(OH), —2— CuO}+H,0 (Vsmark)
Black ppt

2- (2 marks)

Mass of one mole of sodium hydroxide=

23+ 16+ 1=40gm (% mark)
Number of moles =6 + 40 = 0.15 mole (% mark)
Volume of solution by litre =150 + 1000 = 0.15 litre (%2 mark)
Molar concentration =0.15 + 0.15 =1 mole /litre (%2 mark)
B) (4 marks) . OH ONa
1- @ + NaOH —— +H,0 (one mark)

2-  CH;COOC,Hs + NaOH —2—+ CH;COONa + C,HsOH  (one mark)

NH; + CO, + H,O + NaCl —— NallCO; + NH,Cl (one mark)
2NaHCO; —2—» Na,CO; + H;0 + CO, (one mark)

C) (2 marks)

Sodium carbonate has a basic effect on litmus solution

2H,0 == 2H" +20H (Vamark)
Na,CQ; — 2Na" + CO;5™~ (Yamark)
Na,CO; + 2H,0 == H,;CO; +2Na" +20H" (Vamark)

Accumulation of hydroxide ions(OH’) in the solution (zmark)
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